Name:_________________________
Patterning Meets Algebra – Independent Note· When we graphed our patterns, we discovered that they made straight lines. The equation for a straight line is: y = mx+b
· This matches with our pattern, where the m (slope) is our pattern number and b (y-intercept) is the term value at term 0 (ie: where it starts)
· How do you find term 0? 
** Subtract the pattern number from term 1 
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[image: ]Knowing this information means that we can easily create an equation for each pattern so that we can find term values of the pattern without continuing the pattern. Ie: if I wanted to know what the value at Term Number 100 was, I could use my equation to solve for it instead of writing out the entire pattern.
Example 1: Term Number
Term Value 
0
11
1
9
2
7
3
5


Pattern: 9, 7, 5…     
1. Convert this to a table of values. 9 – (-2)

2. Determine what the pattern number is.-2 

3. Subtract the pattern number from term 1 to 
determine the value at term 0.
4. Use this information to replace m and b. 
 
The pattern number is -2. The value at term 0 is 11. Therefore, the equation is y = -2x + 11 

Your Turn
 Pattern 1: 6, 11, 16 …Term Number
Term Value 
0

1

2

3



1. Convert this to a table of values. 

2. Determine what the pattern number is. 

3. Subtract the pattern number from term 1 to 
determine the value at term 0.
4. Use this information to replace m and b. 
 
The pattern number is _____. The value at term 0 is _____. Therefore, the equation is _______
Instructions: for each pattern, determine the equation that could be used to find the nth term. Follow the same steps as the previous pattern.
Pattern 2: 12, 16, 20 …
	Term Number
	Term Value 

	0
	

	1
	

	2
	

	3
	



Pattern 3: 3, 5, 7 …
	Term Number
	Term Value 

	0
	

	1
	

	2
	

	3
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	Term Number
	Term Value 

	0
	

	1
	

	2
	

	3
	




Graph one of the patterns from the above activity.  
image1.png
) math makes sense X | Gl Mail - Hallahan, Ke' X | - HowtoCreateline X | G y=mx+b-Google X & EquationofaStraic X & mms.g8seunitio X | +

CcC 0 @& mathsisfun.com/equation_of_line.html|

Home Algebra Data Geometry Measure Numbers Physics Dictionary Games Puzzles

(or"y = mx + c" in the UK see below )

What does it stand for?
y = mx+b

/!

Slope or y value when x=0
Gradient (see Y Intercept)

how far up

<
1]

x
1]

how far along

m = Slope or Gradient (how steep the line is)

b = value of y when x=0
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